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R5.2.9| 6 |[EEHESK QA 1.327 50| 663 0 0 0 0 0 ol @63 0 0
RG.2.10| 7 |M#BEERE B _ 8.511 sol 4,955 0 0 0 0 0 0 o| 4 255 0
Rs.2.11] 8 fﬁfﬁﬁ*i(w’"‘_*"’x377"71 5.2711] 50| 2 635 0 0 0 0 0 0 o| 2635 0
BHEBAR(FELEREORA, HBEORFTY—
RE.2.13| 9 |UXi. AXOWULS. EhAREERTD 8,679 100] s.679] 0 0 0 0 o| 867 0 0 0
A, 204046 D B K) F :
RS.2.15| 10 |51 ot 4,015 50l 2007 2007 0 0 0 0 0 0 0 0
RS.2.22| 11 [EBBIBAR (1. MEL) 2,632 50| 1.316 0 0 0 0 0 0 ol 1.316 ol
Re.2.24| 12 [Hv o 5.628| 50} 2.814] 2 814 0 0 0 0 0 0 0 q|
RS.2.28| 13 |HENBEHEE (AKERM) QE) 4,200| 100] 4, 200 0 0 0 0 o] 4 200 0 0 0|
R5.2.28| 14 [Hvy 7.0211] so]l 3510 3510 0 0 0 0 0 0 0 of
|R5.2.28 15 |Fmss (WESH) (A9 4.565| 100] 4,565 0 0 0 0 of 4565 0 0 0
h&zm 16 |h—hR— CEHE (1 H4) 22.000 w|11mq 0 o 17,600 0 0 0 0 0 0
rs.2.20| 17 |mEmEREBGAD 20,000 50| 10, 000l 0 0 0 0 0 o| 10,000 0 0
0 0 0 0| 0 0 0 0 0 0
2H 109, 064 71.363] 11,703 o[ 17,600 0 o| 20 269 12, 181| 9,410 0
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HARE e B RE (RUDAR)
%A |wu= RIS - il e e
*3 % nEwze | wer | smx | menww (FPERFE gunom [ geman | smmr | osex | oaen

R5.3.7) 1 |BESERHECAD) 8 4221 50] 4.211 0 0 0 0 0 0 0 0] 4 211 0
R5.3.8| 2 |EEBMEBIRMLGAM 1,536 50 768 0 0 0 0 0 0 0 768 0 o}
iRS. 3101 3 (HvUiR 4,628/ 50| 2,314 2314 ¢ 0 0 0 0 0 0 0 0
!R5- 3.10[ 4 |RIBMEMMERN (894%9) 846| 70 592 0 0 0 582 0 0 0 0 0 0
R5.3.10| 5 [MEEEEMFARL (28 45) 8.521| 50| 4, 260] 0 0 0 0 0 0 0 0 4, 260 0
|R5. 3121 6 |RHBRALMAR(TUUE—a20, MAK 4,330 50L 2,165 0 0 0 0 0 0 0 0 2165 OI
R5.3.13] 7 |[EHASEAR(ZUTFPHRLY-) 10| 50 b5 0 0 0 0 0 0 0 0 55 0
R5.3.14| 8 |FBHSBARRI1LY) 440 50 220 0 0 0 0 0 0 0 0 220 0
|R5. 3.16p 9 |EHRLMAR(RY, BAY) 605/ 50 302 0 0 0 0 0 0 0 0 302 0
|R5. 317 10 |[HY) i 5,998 50] 2,999] 2,999 0 0 0 0 0 0 0 0 H |
R5.3.18| 11 |EEASEAR (B/A1 Ly FY—) 2,356] 50 1,178 0 0 0 0 0 0 0 o 1,178 0
R5.3.18| 12 (RBRASMAR AFEH) 363 50 181 0 0 0 0 0 0 0 0 181 0

BEMAR QN o HIKEDS I TV U7,

IE5. 3.20) 13 DEMYETFDC &b, _;]jé@ié‘ﬁ'g%) 6,380 100] &, 380L 0 0 0 0 0 6| 6380 0 0 0
|R5. 3.23| 14 |EBRAEMAR(S V. MBEKE 2,029 500 1,014 0 0 0 0 0 0 0 of 1,014 0
|R5. 3.24) 15 |RBIRERENRIR (3 E—) 200] 99 198 0 0 0 198 0 0 0 0 0 0
R5.3.251 16 |HifMREsER (HAFEHE) GH) 4,200 100] 4; 200] 0 0 0 0 0 0 4,200 0 0 0
R5.3.27 17 [Hv U2k 7,678] 50| 3,839] 3.839 0 0 0 0 0 0 0 0 0
R6.3.27| 18 [(R—L~_—THHHCEH) 22,000{ 80f 17.600 0 0 0| 17,600 0 0 0 0 0 0
IR5. 3.301 19 [AvY LR 4,436 50] 2. 2181 2218 0 0 0 0 0 0 0 0 OI
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#AE | snm REEHGERE - 5 THE BEEnR
%8 X H B IR
(96) RERER HHR R IRG R A = o T OREEREK | REBAR EHHR HHER P13
[s.3.31) 20 |wmmEn aFgE) QAR 4,565| 100] 4, 565 0 0 0 0 of ol 4 565 0 0 of
RE.3.5 21 |HHESHAR (2 vTL—1) 1,500 99| 1,574 0 0 0 0 0 0 0 o| 1.574 0
RS.3.20( 22 |MEUREMELHK (@84 x 4075 - SHSERSD) 41,748 99| 41,330 0 0 o| 41,330 0 0 0 0 0 0
R5. 3.24| 23 igjﬁ%ﬁmﬂm@%mw‘ﬁa‘mw 000~ &3 | 463 430 o9] 458, 705 0 0 0| 458,795 0 0 0 0 0 of
[F5.3.24] 24 |RESBEAEARR T 1 &7t (50, 0002) 275.330| 99 272, 576 0 0 o| 272,576 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 0
3Rt 871, 741 833, 534] 11,370 0 o[ 791,091 0 o 15,145]  768| 15,160 ol
REt 4,485.956]  |3.996.524] 84, 744 0 0[a. 263. 85| 216, 200 o[ 182, 887| 125, 535 123, 283 0




